3HAHIA 45

Pbuenie. O1s Hoemspia 1-Bifi aens1s ma wusaasaniero,
Ao fluyapia 12, aemp ma mposaBamiero, m3mu-
uarn Anbl 73 no 2 9 ma rogmmara we upu-
HeCARTD JANXBM
g 0 P 0
X==100xX360:: 10000x 73 > 2
- 10000 X< 73X2 = 1460000 :
100 — 360 36000 =40 op., 1 55 cauTnMBL.
Apyra 3azaurx. Hbkoe cm vacruo amuye mpugobusa upbss
npoAax6s, eama Kambiaia KoATo 1we cA mamiatd cabas 3
mecbua (1.e. 92 gema); uCKa Ipoyee OTH WM3ZATEALTH Kam-
6iaaa, koaTo Aa ca mamaatn cabgs 19 gema ors garara, Cmo-
pbab ocaosidra wmp obaye, Ha usjaTeibTH HE MOHACA Aa O-
CKOpHM HaIiamamiero ; ocsbub KaTo mpuembTHM, 3a OCKOpeH=
upith Ane, mo 2 U)o HAa roAMHATA THPrOBCKATa CH AMXBR, KaK-
T0 BB cabaywmiiite npumbps:
Pburenie, llpasoro 3a ga ca ussage kambiasara cnopbas
ocaosiero umb, ¢ 3 mechbua, mam 92, Agema,
Usaazenna ¢» 19 aena ors garara 199 —
Ockopenna 3a 4a ¢ HAlIATH TO Hanpbas 73 aena;
3a komro, we cmbramet mo 2 O/ ma rogmmara ANXBA, KaKTO
no Aoay.
o 0 : o 0 ¢
X =100 < 360 : : 20000 > 73 >< 2
20000><73><2 — 2920000 =
T005<360 35000~ Ol 2., u 11 cantmna,




